CAL ANGLES are

formed. Vertical angles are
0ss from each other, they share a common
osed of opposite rays. |80

Usea straight edge. ) A zdS

Draw ray 0C opposite to ray OB , and then
draw ray 0A opposite to ray 0D,

Use what you've learned about the measure of

straight angles to prove that the figure contains ]
two pairs of congruent angles. 4BOD = 4 A@— 4BOA =4 _D_Qc,;j
A = =

Pairs of vertical angles always have the same m e.

Vertical angles are _Qonsrueod- (symbol hint =)

Congruent means they havethe __Seme Measw <

Set A: In the diagram, name the second angle in each pair of vertical angle
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{ Set B Questions
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! 2) m& ABC = ____'SD
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\ 4) maABG = ——
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vertical angle

5) m&BC) = ——&—‘
L | & ——
6) Figure ABCaboveisa fﬁ’wﬁz ABC o

2 figure is ° 5‘ o
7) The proper notation for the Ng ° _3—— = __‘I—L__

BCis M+ ~—

‘ A
8) The sum of the angles in figure
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Two angles are complementag{ if the sum of their
Two angles are supplementary if the sum of theit
S —————

airs may be adjacent,
Complementary and supplementary angle pairs may be ad;

A linear pair is a pair of adjacent angles §
Below, the angles marked 32° and 148° are a linear pal

angles measure 90°.

ir angles measure 180°. (?l-rgsu>

s that are supplcmcntal Vrupannnnesenee,

t. but do not need to be.

Together, these angle pairs form a

These angles are:

These angles are:

Comp /wc«lurq / k __S.«gpf:mgz_‘n_f;;

PRACTICE: Calculate the measure of each unknown anOIe
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5) mé e =

7) m4 g =

9) m4 AOB =

10) m4 COD = L
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